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EBS #T/PIN 6% AVG |12G AVG it 12G AVG mi|Iefz| 12G AVG etz T/PIN AVG Iz T/P T/P T/P T/P|T/PIN AVG it
1| 8|2m Fijy|oot U | Al 8,845 42(210.59]2,894 22441 | 1|2,552/212.66| 3| 1[2,244|187.00| 9[7,690 213.61| 1]190 218 181[589|186 181 199|566 0 0 |1155/192.50
2| 1|#%&Ee4ST | arydax| 5 8,822 |42/210.04|2,347|206.50 | 10| 2,558|213.16 | 2| 52,511 |209.25| 2[7,416|206.00] 3|206 209 247(662|236 253 255|744 0 0 |1406(234.33
3| 10|aH @5 | >« Tn|E | 8,685 |42(206.78|2,578|214.91 | 2|2,439|203.25| 5| 3|2,447 |203.91| 3|7,464(207.33| 2|235 210 149|594|203 208 216|627 0 0 |1221|203.50
4| 2113 F#L|povF <+| A| 8,620 |42/205.23|2,506|185.00| 5[2,396(199.66 | 8| 6[2,403|20025| 5[7,305|202.91| 6211 167 227|605|226 256 228|710 0 0 |1315/|219.16
5| 4|88 =P |/ LS =9 A 8,583 |42/204.35]2,361|197.50 | 7|2,444|203.66| 4| 7|2,601|216.75| 1|7,406|205.72| 4|167 200 213|580(200 211 186|597 0 0 |1177|196.16
6| 6|#AK ZTT | zx+vuA>| A| 8,469 |42(201.64|2,546221.00| 3[2,562(213.50 | 1| 2[2,292|101.00| 8|7,400(205.55| 5]|165 153 157|475|186 204 204|594 0 0 [1069|178.16
7| S5(WLE f&h0|v<yuun| Bl 8,444 |42]201.04]2,358|196.91 | 8|2,292(191.00| 12| 102,432 |202.66 | 4|7,082(196.72| 9|219 237 211|667|267 214 214|695 0 0 [1362|227.00
8| 171K E|#EN/ WA |E | 8,329 |42|198.30|2,522|21466 | 4|2,413|201.08| 6| 4[2,222|185.16|10[7,157|198.80| 7|173 203 220|596|178 177 221|576 0 0 [1172]195.33
9| 13|%F UMD EY eHU| H| 8,298 |42|197.57|2461|191.08| 6|2,297|191.41 | 11| 82,391 |199.25| 6(7,149|198.58] 8]188 189 194|571[181 200 197|578 0 0 [1149|191.50
10| 7|24k B|s07> €x| | 8,212 |42|195.52]2,349200.75 | 9|2,367(197.25| 9| 9|2,215|184.58| 116,931 |192.52| 10| 202 222 218|642(219 203 217|639 0 0 [1281213.50
é *% % 5_% ,I'\'_"_I\ 7,980 |42/190.00 | 2,280 |190.00 2,280(190.00 2,280(190.00 6,840|190.00 190 190 190|570/ 190 190 190|570 0 0 |1140|190.00
11| 16|&# &= ore vex| A| 7,956 [42]189.42|2,153|199.00 | 13| 2,191|182.58 | 13| 13 (2,333 |194.41| 76,677 |185.47| 13]201 217 223|641[231 234 173|638 0 0 |1279(213.16
1215118k U5 2+ Y95 |E 7,845 |42|186.78|2,229|190.01 | 12[ 2,411|200.91 | 7[11|2,116|176.33|12|6,756|187.66| 11| 210 175 185|570(158 181 180(519 0 0 [1089|181.50
13| 11K FEX|xverner|E | 7,819 |42|186.16]2,275|203.41 | 11| 2,323|193.58 | 10| 12 (2,099 |174.91 | 13| 6,697 |186.02| 12| 208 188 168|564|186 161 211|558 0 0 [1122|187.00




